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Note: This question paper contains two parts A and B.
_Part A is compulsory which carries 25 marks. Answer all questions in Part A, S
{ : 7 Part B consisty of S Unitd Answer any gné full questioni from each unif.  Hach Pl
"'question carTies 10 marks and may have a; b, ¢ s sub questions. o

PART- A
: (25 Marks)
L.g),", What is Gapg of Four GOF} | L2
b)! ;. How to select a:design pattern? ; SIS P 23]
¢)  How many objects is the Singleton responsible for creating? {2]
d)  What are the consequences of the Abstract Factory pattern? {3]
e)  What is the basic problem being solved by the Bridge pattern? [2]
f)  What are the two variations of the Adapter pattern? (3]
g); .. What is the, intent of mediator,pattern? D - o 21 cy
h)* .. What are the.cdnsequences of Chain of Responsibility pattern?’ ... R )| Vi
i) What is Template method pattern? {2]
)} What is the purpose of Visitor pattern? {3]
PART-B: (il EER ;
LA L (50-Marks) g

2.2)  What are the different ways in which patterns and framewos share similarities and
in which they differ? Discuss. B
b)  Describe the consistent format for describing the design pattemns. [5+5]
OR | {4
3d) " Give the step-by-step approach o apply a design pattern effectively. o .
b) What is the basis for classifying design patterns? Categorize and tabulate the design

patterns [f,‘"ﬂ e

4.2)  Discuss about Lexi’s user interface and its design problems. o L
“ b): " The Singleton uses a speciali method to inStantiate objects; What is special about this il
o ethad? R 545 |

OR
5:2)  What are the implementation issues of prototype design pattern? Discuss.
b)  Can we use an abstract factory for supporting multiple window system in Lexi’s design?

., ,, Explain. ., LI5+5]
/6/a) "Discuss in detall about the péftiéipants and cdﬁséduences of Cémbosite patterr"l,‘ i
b)  What is the intent and motivation of Facade pattern? Explain. [5+5] %
: OR k

7.a)’ ' When can bc a_Flyweight pattern effectively be applicable? Explain,
b) xWhat are thie different language features thatiate-exploited byipioky pattern? ¢ i[5+5]

......

............

8.a)  Write gbout the implementation issues of memento pattern.

b)  Explain the motivation and applicability of observer pattern. [5+5]
2. . What is Command Pattern? Describe in detail about structure, participants and
-1} collaboration$ f Command; pattern, i ]

Lo
10.a) ‘Discugs the implementation issues of Strategy behavioral pattern.
b) Explain what to expect from design patterns. [5+5]
OR
1 lzf./a) . Discuss about the structure and participants of state design pattern. N
':_Cx 1y \.uuuuui‘l‘iﬁy";}l brict — R D [5+5]
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